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@ Round 54 to the nearest ten. +5
@ Write the missing number: 14 + = 23
DAY 6
D) 6 3D 15 6 D 36+6
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81 30 8 56+ 7 =
e P Dy @
3 Round 9,982 to'hearest hundred. +6
|
@ Write the missing number: + 28 = 35
| DAY 7
1.) 6 (2) 12 G. 8 (4)) 32+8 =
*3 -4 x4
(5) s1.26 63 (7D 9 54+ 6 =
+ .54 =35 x6
How many hundreds in 3607 +3
Write the missing number: + 25 = 49
DAY 8
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What number is one hundred T @ Complete:
‘more than 6,280 ? 35 + = 52

DAY 9 -
@ T @y & @ T
+6 -2 x7
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DAY 10

T Write the missing number: 49 +

What is the value of the 8 in 65,8122

= 73




